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AL X 5y ESl
AL B =

N il 5 n—h | Zofh =] B
AL [E] 2K 73,080 20,201 52,879 126 11,694
EHTF I A—RL 60,591,403| 21,253,580] 39,337,823] 129,107 54,137,929
L RE (R 2 5)) 108,818:47| 37,455:39] 71,363:08 213:04|  74,817:47
W s A JCCAN) 9,015,247] 3,996,763 5,018,484 6,923 1,868,642
AFxe(T) 8,512,421 4,224,862| 4,287,559 7,516] 9,016,308
2 JE i 2 e (T-) 11,292,322] 5,231,745] 6,060,577 10,708] 11,048,373
JEE i AT 2R (%) 75.4 80.8 70.7 70.2 81.6
= ¥ (kg) | 65,799,750 47,781,389| 18,018,361 184,889 130,935,285
iaﬁéj i Fm Y (k)  5,336,967] 3,889,768 1,447,199 4l 2,945,471
% Y (kg) 4,560,338 2,912,346 1,647,992 0 2,693,615
7t (kg) 75,697,055] 54,583,503 21,113,552] 184,893] 136,574,371
B k% (T) 638,432 316,865 321,567 564 841,968
\h g% (T) 70,119 52,698 17,420 187 708,882
(i 3'/\’ s F A (1) 5,902 4,448 1,454 0 7,181
; Y (T) 4,441 3,015 1,426 0 18,070
i (T) 718,893 377,025 341,868 751 1,576,101
FH T ERFr (T) 1,343,006 652,628 690,378 1,295 2,283,160
AR R %) 53.5 57.8 49.5 58.0 69.0




